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CHILD DEVELOPMENT AND TEACHING METHOD

Which one of the following is not an
obstacle in problem solving ?

(1) Insight

(2) Frustration

(3) Anxiety

(4) Negative mental set

Which one of the following is an emotion ?
(1) Stimulus (2) Memory
(3) Amusement (4) Attention

Who is basically linked with ‘EIACS’ ?
(1) Herbert (2)  Lippitt
(3) Flander (4) Morrison

Which of the fellowing statement is not

correct regarding ‘Questioning skill’ ?

(1) {Using encouraging methods while
questioning

(2) “Encourage questioning

(3) Increasing the number of questions
with yes or no

(4) Develop sensitivity towards listening

Which of the following is projective
technique of personality measurement ?
(1) Interview

(2) Thematic Apperception test

(3) Rating scale

(4) Observation

The stage of creative problem solving in
which an individual do not give attention
to irrelevant information is known as
(1) Preparation (2) Translation

(3) Illumination (4) Incubation

The smallest unit of ‘Spoken language’ is
(1) Semantics (2)
(3) Phoneme (4)

Morpheme
Syntax

From ‘Which of the following questions’
creative thinking can be best predicted ?
(1) Who can answer it ?

(2) Tell the right answer.

(3) Can you tell its answer ?

(4) What can be different ways to solve it

)
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11.

12.

13.

Micro-teaching is

(1) Evaluation teaching
(2) Real teaching

(3) Scaled down teaching
(4) Effective teaching

Match the list A and list B.

List - A List-B
a. Hull I. Need theory
b. McDougall II. Instinct theory
c. Freud I11. Psycho-analytical
theory
d. Maslow IV. Drive-reduction
theory

a b c d
(1) I II n Iv
2) v I m I
(3) IV I1 I I11
4) v | I I

Which of the following principle is not
included in Programmed Learning ?
(1)  Principle of practice

(2) Principle of small steps

(3) Principle of active responding

(4) Principle of reinforcement

Which one is not important in the learning
process of Thorndike’s Stimulus-Response
Theory (S-R Theory) ?

(1) Operant behaviour

(2) Drive

(3) Motive

(4) Stimulus

Which of the following learning is placed
on the lowest level in Gagne’s Hierarchy of
Learning ?

(1) Concept learning

(2) Verbal learning

(3) Signal learning

(4) Chain learning

Voice modulation during teaching is the
example of

(1) Skill of stimulus variation
(2) Skill of introduction

(3) Skill of reinforcement

(4) Skill of closure

[ P.T.O.
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22.
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(AR

Which of the following is not the element
of communication process ? '

(1) Medium (2) Interaction

(3) Feedback (4) Reinforcement

Which approach is suitable for the education
of ‘Mentally Retarded’ children ?

(1) Individualized instructions

(2) Acceleration approach

(3) Enrichment approach

(4) High level curriculum

Which of the following statement is not
correct ?

(1) Learning is a process of behavioural
change.

(2) Growth is a biological process.
(3) Development is a quantitative process.
(4) Education is a goal eriented process.

Child’s specific ability and specific potentiality
in particular field is known as

(1) Value (2)
(3) Aptitude (<)

Motivation
Interest

Iconic stage of Bruner is similar to which
stage of Plaget’s cognitive development ?
(1) Formal operational stage

(2) Pre-operational stage

(3) Concrete-operational stage

(4) Sensory-motor stage

Which one is not related with trait theory
of personality ?

(1) Freud (2)

Allport
(3) Cattell (4)

Eysenck

Which of the following set is correct about
the elements of creativity ?

(1) Fluency, Flexibility, Originality,
Collaboration :

(2) Fluency, Flexibility, Originality,
Elaboration i

(3) Frcqu(‘nq_\'. Flcxibility, Originality
Elaboration - .

(4) Fluency, Feasibility, Originality
Elaboration . Binality,

At the age of 4 — 5 Years, a male child

de\:clops a more profound attachment
towards his mother as compared to his

father. What was the t i
! at we erm coined by Freud
for this change of behavi .

our of child ?
(1) Super cgo
(2) Narcissism
(3) Oedipus complex
(4) Electra complex
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23.

24.

25.

26.

27.

28.

Which one of the following is not included in
the Thomndike's secondary laws of learning ?
(1) Law of analogy

(2) Law of multiple response

(3) Law of partial activity

(4) Law of action-reaction

If a person is getting help from his previous
experiences of driving scooter during the
learning of car driving, what type of transfer
of learning is depicted in this example ?
(1) Horizontal transfer

(2) Posttive transfer

(3) Vertical transfer

(4) Bilateral transfer

Disability related with communication is

(1) Dysphasia (2) Dysgraphia

(3) Dyslexia (4) Dyscalculia

Which of the following teaching method is
not democratic ?

(1) Project method

(2) Participatory method

(3) Lecture method

(4) Group discussion

Which of the following is notrelated to the
affective domain of Bloom’s taxonomy of
educational objectives ?
(1) Organisation  (2)
(3) Receiving (4)

Responding
Knowledge

Which of the following is not the level of
teaching ?

(1) Reflective level

(2) Motivation level

(3) Memory level

(4) Understanding level

Learning is an association between
stimulus and

(1) Past experience (2) Behaviour
(3) Response (4) Animal
Which one of the following teaching

methods is based on progressive theory ?

(1) Inductive (2) Problem solving
(3) Questioning (4) Deductive
[ P.T.O.
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61. Fill in the blank with the right word from 69. The synonym of ‘Adroit’ 18
otent (2) Skilled

GLISH

the alternatives :
(1) Potent

Sardar Patel the farmers of Bardoli (3) Clever (4) powerful
f in their fight against the government. _ e
| (1) led (2) lad 70. Which alternative 1s the correct indirect
' (3) lead (4) leed form of the sentence ?
: . He said to me, «When will you comeé
| 62. Choose the masculine gender from the back:?"
| olp‘uogsa}g{wen below : 5 (1) He asked me when he would go back.
| §3] C;unet s l;) §0§h (2) He asked me when [ would go back.

. (4) Feahen (3) He asked me when you would go back.
i 63. Which of the following sentences has a (4) He asked to me when [ would go back.

request ? . ; :
: (1) How fast youran! 71. Change the following sentence into Active
! (2) “Could I borrow some money from you, voice !
: please ?” The bird was killed by a cruel boy.
| (3) Wish yvou a happy journey together. (1) A cruel boy was Kkilled the bird.
& (4) “T got the concert tickets 1" (2) A boy killed:the cruel bird.
' i . 3) Accruel boy had killed the bird.
? 64. W ow T ( p i
hich of the following word does not have @) A eruel boy illed the bird.

silent letter/letters ?

(1) Psychelogy (2) Doubt 72. Change the following sentence into Passive

(3) Knowledge (4) Cattle voice :
65. Which conjunction will be the most He kept me waiting. -
appropriate to join the following (1) 1was kept waiting by him.
sentences ? (2) 1was waited by him.
(3) I had been waited by him.

You will not succeed. You work harder.

(1) none of these (2). until (4) I waited by him.

A S A LmVER N .

73. Which of the following sentences has a

) (3) unless (4) than
2 66. Which of the following sentences has been ‘modal verb’?
i (1) She comes here to study.

punctuated correctly ?

(1) Reru said, “Give me a pen, a pencil
and a book.”

(2) Renu said Give me a pen, 2 pencil and

(2) You must improve your spelling.
(3) Seeingis believing.
(4) Her sister known to me.

74. Fillin the blank in the following sentence with

a book.
(3) S%‘g‘;}fa}d give me a pen & pencil and the correct word from the alternatives :
(4) Renu said “Give me apen a pencil and He solveld all the questions with
2 book.” (1) easier (2) ease
(3) easy (4) easily

491 in the blank in the follo ring sentence .
fiflsin B & in the fol oWing 75. Fill in the blank with the correct form of

67.
with the correct alternative - , '
[ did not inform at all. pronoun in the following sentence :
(1) None (2) Nobody Ramaand ____ were present.
(3) Anybody (4) Any (1) Both (3) and (4)
; i s (2) None of these
68. The antonym of Justice’ 18 @) 1

(2) Unjustice (@) Me

(1) Iljustice
(4) Disjustice

(3) Injustice

sper — 2/D

gy T~ FASD TP DR o 8 g TN 2T WA R “":. #
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76. Which part of speech j o
ingenious’ ? peech 1s the word
(1) Adverb (2)

; N
(3) Adjective (4) e

Pronoun

77. The feminine gender of the word
‘Bachelor’ is
(1) Wizard (2) Woman
(3) Steward (4) Spinster

78. Change the following sentence into a
negative one :
This boy plays football.
(1) This boy does not play football.
(2) This boy not plays football.
‘ (3) This boy no plays football.
| (4) This boy do not plays football.

79. Change the following sentence into a

question :

Madhusudan knows how to cheat.

(1) Do Madhusudan knows how to cheat ?

(2) What Madhusudan knows how to
cheat ?

(3) Does Madhusudan knows how to
cheat ?

(4) Does Madhusudan know how to
cheat ?

80. Which suffix should be used to pluralize
the following word ?

taxi
(1) -ren (2) -s
(3) —es (4) —en

Direction : Read the following stanza carefully and
answer the questions (Question Nos. 81 and 82)
that follow it :
Break, break, break,
On thy cold gray stones, O Sea !
And I would that my tongue could utter
The thoughts that arise in me.

the word utter’ ?

ven below and
[ps. 83 and 84)

it a city need
| be among

s of living which are not to
h cities. But, for that
d drastic planning is
animals, must have
for transport and

producing possibilitie
be realized except throug
to happen, deliberate an
needed. Towns as much as
their systems of organs — those
circulation are an obvious example.

83. Which one of the following has the opposite
meaning to the word frustrater’ in the
passage ?

(1) Executor
(3) Applauder

84. The word ‘drastic’ in the passage means
(1) Determined (2) Orderly
(3) Powerful (4) Consistent

85. Fill in the blanks with correct preposition :
Napoleon had genius military
tactics, without doubt he is genius

(2) Promoter
(4) Approve

Mathematics.
(1) in, at (2) for, in
(3) in, for (4) at, in

86. Complete the following sentence with the

most appropriate word :
Priya is not for this kind of a job.

(1) cutout (2) cutin
(3) cut up (4) cut through
87. Which of the following nouns is a material
noun ?
(1) Kalidas (2) Iron
(3) Irony (4) Class

88. Which of the following is a grammatically
acceptable sentence ?
(1) Give me four fives rupees notes.
(2) Give me four five rupee note.
(3) Give me four five rupee notes.
(4) Give me four five rupees notes.

89. Identify the subject of the verb in the
following sentence :
Every boy along with his parents is waiting
in the next room.
(1) Boy along with
(2) Every
(3) Every boy along with his
_ a
(4) His parents PSS

90. Which of the followin
. g sent
adjective clause ? Fce has an
(1) Ibought a beautiful chain.
(2) Ibought a chain which was beautiful.

(3) Ibought a chain because it was
beautiful.

(4) 1 bought a chain and it was beautiful.

| FRED,
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YW - IV (1) / PART - IV (1)

T e fergm
afe st ABC % 317090 91 % 0 1 sin
¢+BOC = 110° %, 2BAC %1 71 £y
(1) 110° (2) 20°
(3) 40° (4) 55°
afe Fmﬂtr#@w & 75% 1 75 Srza 99 e g
¥ ST, 9e JE enfi

(1) 325 (2) 300
(3) 270 (4) 225
Qf,n' 3-|u’ 430 q91 SQUﬁma@m%
(]) 520 (2) 250
(3) 3~1U (4) 430

AB U 11 %1 4T & 31 ABCD 363 fiat 1 9
F & 1 4R ZACD = 40° @, @ ZBAD F AW &M
(1) 90° (2) 50°
(3) 40° (4) 80°

Hﬁ:OSxSSHWSgyglo-&ﬁ,aﬂ(szﬁ,
sfireRas O g y
(1) 2 (2) O

@ 1 @ =
2

Tl y = 7x — 2 % o FrefaRad 3 8 FH-E
FTAE !

(1) 3% SAAEAE |

(2) FE I Tl A @ |

(3) A U A EE e |

(4) SARATAE |

T ) ﬁgﬁ@]ﬁ@hﬁmﬁm%?

91.

92.

93.

94.

95.

96.

97.

/ MATHEMATICS AND SCIENCE

e of incircle of a triangle

If O be the centr
, then value of zBAC

ABC and ~ BOC = 110°

will be
(1) 110° (2) 20°
(3) 40° (4) 55°

If 75 is added into 75% of a number, gets
that number, then that number will be

(1) 325 (2) 300
(3) 270 (4) 225

Greatest number among the 2%, 3%, 4%
and 5% is

(1) 5% (2) 2%

(3) 3% (4) 4%

AB is a diameter of a circle and ABCD is a
cyclic quadrilateral in that. If £ACD = 40°,
then measurement of ZBAD is

(1) 90° RO 0°
(3) 40° (4) 80°
IfO<x<5and5<y< 10, then maximuim
value of (EJ will be
i
(1) 2 (2) O
1
3) 1 @l =
2

For the equation y = 7x — 2, which of the
following statement is true ?

(1) It has infinite number of solutions.
(2) It has no solution.

(3) It has a unique solution.

(4) It has two solutions.

(49)'° - 1 is completely divisible by which

number ?

i. 50

ii. 48
iii. 29
iv. 8
(1) iand iii (2) iandii
(3) 1ii and iv (4) iii and iv
e 5F cos135°sin210°cos150° 3

sin270°cos 315°
(1) V3 (2) [3
2
1

3] —= J3
(3) NE] (4) =

[ P.T.O.
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7. WAX=13My=]Fghan s o .
1oy, X Ay =] * 092 fag =1 ffss & | 107, The co-ordinate of point of intersection of
(1) (0, 0) (2) (0. 1}” linesx=1andy=1is
(3) (1,0 (4) (1) (0, 0) (2) (0, 1)
1 (3) (1,0 (4) (1, 1)
108. Mlujmm‘_ ok e 2ss
- “ HTAE TR ARG | 108, If arithmetic and geometric mean of
FHI: 5 T 3 7, 6 5EE 1 ==y | two positive numbers are 5 and 3, then
2 numbers are
(1) 4,8 (2) 2,4 2] 2. 4
(3) 9.1 1 ) (1) 4,8 (2) 2,
e 1) 4. 16 (3) 9,1 @) 4,16
9., TIHAT S JEaql &1 335979 0~ X - -
L ) 41? q.r.l 3 I? 27 1 64, TH= g 109. The ratio of volume of two cubes is 27 : 64,
G551 & &% T 39 2 then ratio of their total surface area is
(1) 27:64 (2) 3:8 (1) 27:64 2 3:8
(3) 3:4 4) 9:16 (3) 3:4 (4) 9:16
7‘-"‘-?\-' 4 _]_ - - = .3 :
110. Fie x4 < =137 x7 + L"ﬂfﬂqf’ 110. If x° »:-L—H then value of x3+%is
= b
A 3V6 ﬂ} )
18 A. 3V6
SN B. =
\ = . \J,g
€ 93 c. of2
D‘ 3\2 D 3\‘2
(1) A, B, D (2) A B, C (1) .A,B,D (2) A B,C
(3) A, C,D (4) B,C,D @) A,C,D 4) B,C,D
111, IRTFRIA B, B, 3 B, ven i fafedi § | 111, IfB,, B, and B, are three kinds of birds on
3:7 5 :«J:p'ﬁ;‘]qm'—r—;ng -ﬁp-gn atree in the ratio 3: 7 : 5 and number of B,
SR B & Se § = s 9 39 7 E s birds are more than B, birds by a multiple
e - f— An . of 9 and 7 both, then minimum number of
=] Fis T |l wl qt!s::qclmﬁgmaﬁma .
) N birds on the tree are
FHHE T .
(1) 942 (2). 945 (1) 942 (2) 945
(3) 630 (4) 238 (3) 630 (4) 238
e _ 10 -
112. 3t x=(2-3} CEL @I X - 2xT—-Tx+5 112, If\"(jA\E) , then the value of
FIAAEE X -2x-Tx+5is
(1) O (2) 3 (1) 0 (2) 3
(3] 2 (4) 1 (3) 2 (4) 1
113. IR 10°A+A r*qm—:im?fm-\ TFAEFA | 113. If10°A+Aisa perfect square, then the
N Y minimum no. of digits in A is
el o] 9T @
{1] 3 F__’ Ve[S [2) 2 {1} UndEtC’!‘miﬂEd [2] 2
(3) 3 (4 4 (3) 3 (4) 4
: —q?] q'aq'[:[ W’ﬂ?ﬂm 6eaie |89y | 114. The sum of the present ages of father and
e = 10 ¢ ] |4a-§a—]3—,—1.—ﬂ son‘ i1s 68 years. 8 years ago, the ratio of
their ages was 12 : 1. The ratio of their ages
after 4 years hence is
(1) 16:5 (2) 13:2
(3) 15:4 (4) 14:3
17 [P.T.O
R
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116.

117,

118.

FHF abx? = (a2 + b? + 2ab) (x - 1) F M &
TFAF M2

(1) % (2) 1
(3) 2 (4 1
2

ﬁﬂlj-f?i%mmm.wm[m+2)(m+4)
(1) 7% 2) 237
(3) 3% (4) 53
3 2x-6 Q
# (2 na
7 81 9
o= 2

(1) 6 (2) 12

(3) 9 (4) 8
t{amﬁ%ﬁr—rhﬁéioﬁwm%gﬁi
F1 e == R | e g A 20 A,
soﬁmmsomﬁ%nmm%mmm%
ﬁ?ﬂﬁ?ﬂ%—ﬁ 3 lawii:rﬂi% 7

- 50 &=

Vo

20 =@

(1) 1000 6 =i &
(2) 10000 V6 =i
(3) 100 V6 =i#m
(4) 5000 V6 =

gfz fzmma gt ax? + bx + ¢ = 0 F1 TH gm,

T A 1 S ¥, A Fetatan 8 w2
(1) b=c (2) a=b
(3) a=c (4) ac=1

T HETHA, [0 &4 1 78 10 99 § 193 =

L S R ST 2 | = T i
“..

10% (2) 2%
. 5% (4) 8%

115.

116.

117.

118.

18

119,

120,

I ﬁ'a"nrnnm

The sum of the reciprocals of the rq

) ) 2 Ots of
the equation abx’ = (a’ + b* + 2ap) (- I
is
3 4 1
@) 2 W

For a natural number m., the product
m (m + 2) (m + 4) is always divisible by

(1) 7
3) 3 (4) 5

3 2x-6 = 8
9 _49) = (—/ ] then v;
s ) N valu
If (7] X [ 81 9 eof

X is
(1) 6 (2) 12
(3) 9 (4) 8

(2) 2

An umbrella is made by stitching
10 triangular pieces of cloth of two different
colours. Each piece measuring 20 cm,
S0 cm and 50 cm. How much cloth of each
colour is required for umbrella ?

, 50 ¢m
J,\Q C
[a)
)
20 cm
(1) 1000 V6 sq.cm
(2) 10000 V6 sq.cm

(3) 100 V6 sg.cm
(4) 5000 V6 sq.cm
If one root of

ax’ + by + c=0i
then which of t

the quadratic equation
s the reciprocal of the other,
he following is correct ?

(1) b=¢ g

(2) a=b
(3) S (4) ac=1
A sum of

money doubles jtself in 10 years

at simple interoc ;-
imeresﬁ 2 hterest. What is the rate of
(1) 10%

2) 2%
SIS :1; 8%
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122.

124,

1285.

127.

Lt [ s [ BT 3 N
AT . - """""'4'_.'.--’.1_}
=2 TR i <
. -~
4 A 7 p
> K (Z) % =%
) A 4 (-~
(8) % =5
- » - g -: ’:,—-,
K o =T
. Idl "
e Sy
e T At o -
(4) =M

‘21 -"-'"—_- f—;-_ e
[ ':~— — -
2 s REpres,
Ly -’/——’: sa il ‘,';_";".‘;" {-_-I
TE RS TY e 8
| r o455 ne
J - lz,
107~ -u—,._‘ .
2 107 SRR (4) 10" TzFER
il L -
IS Rt R R B s e g oo
. )
[ o - ——3 -y
i) ¥ o (2) &A1
) =3 ([4) Z&¥1m1 1
P p .
g e firo 5 = EAC o1 26w A

~
(1) T3 7207
) o4
, LT T
1Z] Vel VAT T
~ :
[ Y BB N A S—
3} — A ed (e | T4 e ]
L -
";J AT TE LM e—r e,

& r 1 -
Foawes Wy ? 7
(1) fa=s (2) A
>

(%) =R (4) =4
TN B 73 A SZATA ] THEE F
AL TEHE AT 1. JEM
2. TEE wI i,
C. AT . {A7H

121.

122.

123.

124.

125.

126.

127.

128,

g " WA S A
- " e

e pa
:

If the image of an object having length x,
with convex mirror has length x,, then

P

(1) =, - =, (2) x,<x,
(3) %, >x (4) x,=x,
The Sl unit of heat is

(1) Joule (2) Calorie

(3) Kilocalorie (4) Erg

In medium, the nature of sound waves is
(1) neither longitudinal nor transverse
(2) only longitudinal

(3) only transverse

(4) both longitudinal and transverse
The value of one Angstromeis

(1) 10" micron (2)

(3) 107 micron (4)

107 micron

10 " micron

Thespeed of sound wave is maximum in
(1) ~Macuurn (2) Water

(3) © Air (4) Steel

Which is the aquatic bryophyte ?
(1) Marchantia palmata

(2) Riccia discolor

(3) Marchantia polymorpha

(4) Riccia fluitans

Which of the following is “total stem
parasite’?

(1) Viscum (2)
(3) Rafflesia (4)

Cuscuta
Santalum

Match the following events in plants,

A. Absorption i. Xylem
of water

B. Absorption ii. Phloem
of minerals

C. Transport of iil.  Root hairs
waler

D. Transport of iv. Epiblema
minerals

(1) A-iv
(2) A -iii
(3) A-iv
(4) A -1ij

13— iii
B-iv
B - i
B-iv

(O
C-i
C-ii
C - ii

D -ii
D —ii
D-i
D-i

[ P.T.O.
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129. =il s o & ic species are -
; ‘-ITFcﬁnwg ‘ 129 (Eirlldglna]ntspand animals which are ver,
(1) 99y aﬂtaﬁshm—é szIH’HT{ q’(ﬁéﬁé common and distributed thFOL]ghOut
4l lobe. ,
-E:T l, - .. (2) I%Iants and animals which are fo,
(2) A1y HR S < A v e it et exclusively in a particular geographjc,)
T 9r w1 € arca. :
A . 8 (3) Wild species which are under threay
(3) = == sfoat < g €3 & FHGE | of extinction.
(4) === sha o et @ aem m@d | (4) Wild species which are rescued frop,
poachers.
130. i § WG S 3 9T o Faftad #0 2 130. The correct sequence Ofl parts of female
1) HvewE, aidsm, afds vg reproductive organ in p ants
:2; ' 74, ’ I 1 O T (l)p Ovary, Stigma, Style and Thalamyg
; afet=r, afiwm, HAUEIE U THTEA (2) Style, Stigma, Ovary and Thalamys
(3) 7oz, a1, gere vd i (3) Ovary, Style, Thalamus and Stigm,
(4) afdFm, aff=, svemm vl qumm (4) Stigma, Style, Ovary and Thalamyg
131. FEATRFA R FEE 7 131. Which represents-€alcination ?
(1) MgCO, — MgO + CO, (1) MgCO, " MgQ .+ CO,
(2) 2Ag+2HCl+[0]— 2 AgCl + H,0 (2) 2Ag+2HCl+[0]— 2 AgCl+H,0
(3) 22n+0,— 22n0 (@), 2Zn+®,— 27Zn0
(4) 22nS+30,—22n0 +2 S0, (4) .2ZnS + 3 0, — 22n0 + 2 50,
132. -9 oeE i o i T A Fen F Edi 2 7 | 132, Which colourless gas turns lead acetate
(1) So. 2 CL paper black ? 3
) - (2) (1) SO, (2) Ci,
(3) H,S (4) Br, (3) H,S (4) Br,
133. T difirei w faem il 133. Consider the following compounds :
1. BF, I. BF,
1. IF, II. IF,
. co, 1. CO,
IV. PCl, V. PCI 1
ars s~ s s ey Among these compounds, the electrophiles
3 T H ?Hazmﬁé ® ) ==
(1) 1,1, TSIV (2) [T (1) LI, MandIV (2) landIl
(3) I IV (4) 1,111 &R IV (3) 1l and IV (4) I, I and IV
134. B @l § FiH-1 TEER A AT % fAT | 134, Which of the following is most reactive
T 3fes e 2 7 for nucleophilic addition reaction ? B
(1) NO,~2-CHO (2) CH,CHO (1) NO, ""j:fCHO (2) C,H.CHO
(3) CH,o-CHO (4) CH,0<¢-CHO (3) CH,”-, CHO (4) CH,0-°-CHO
; ¥
377ad grefl F v @ d A dfa f ar e | 135S, Orglcoming down, the group in periodic
5 g, s table
A, faga e '.:‘.'E Eﬁiiﬂifﬂ‘qrm S & A. The value of electronegativity
B. A fr=m § gfg e 2 decreases
O gt oo o B. Atomic radius increases
C. HAEAA U=derdl & HH | FHl ATl & C. ”(5he value of ionisation enthalpy
:‘Fh‘( 2 b - €creases
i) A, B3MC (2) =axTA (1) A, BandC (2) Only A
(3) #a1B (4) #FAAC (3) Only B (4) Only C
P
-—2/D 20
Lk j & 393
REHE AR LA AL TR e D K T W ORI AR R e B i‘f'.":‘;;’-fr :,3' . 2
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136.

137.

138.

139.

140.

141,

142, 2-methyl propane T 3° — e I T 8

ettt 8 -2 e e i e & 7
(1) (2) X-frsi

(3) e (4) Foo=

el & eI e Y v e v g
(1) 180° (2) 0°

(3) 45° (4) 90°

(1) T 9" &E&H

(2) U amEs

(3) TR = qUTeed

(4) =9 ¥R F TF

forzaTe ur e e dem w ami@ 2 7
(1) 9908 e

(2) @M

(3) Z=EHH

(4) TEw

m | & T 00 &1 il Sl E 2 | 36 §an

B

1

(1) 2mE (2) —mE
2

(3) 2mE (4) ;mE

(1) SHEFE T

(2) g=F AT
(3) %A Frrad fafg g
(4) TEeETE & & g

2 ()l

136.

137.

138.

139.

140.

141.

142.

e A

R R -

Which one of the following is not an
electromagnetic wave ?
(1) Infrared (2)
(3) Microwave (4)

X-rays
Ultrasonic

The angle of dip at magnetic equator of
earth is

(1) 180° (2) 0°
(3) 45° (4) 90°
Decibel is

(1) A musical note

(2) A musical instrument

(3) The wavelength of noise
(4) A measure of sound level

Kirchhoff’s current law is‘based on the
conservation of

(1)
(2)
(3)
(4)

none of these
momenturn
mass

charge

The kinetic energy of a particle having mass
m is E. Its momentum will be

1
(1) 2mE (2) E mE
(3) 2mE (4) %mE}

The ore copper pyrite is concentrated by
(1) None of these

(2) Magnetic process

(3) Froth floatation process

(4) Gravitational method

Number of 3° - carbons in 2-methyl
propane is

(1) 2 (2) 1
(3) 3 (4) Zero
IUPAC name of the following compound is

CH, - CH - OCH,

I

CH,
Isopropyl methyl ether
1 - methoxy - 1 - methyl ethane
2 - methoxy - 2 — methyl ethane
2 - methoxy propane

(1)
(2)
(3)
(4)

| FITE.
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bt B3 VLRl P S AL

DA IRAREY
ati it to
.- . . v 2 bond energy for catenation nex
144, a.l—qqmmmiﬂmzmﬁ 144. z:}:rebox?lnis .
(3) s (4) Si (3) S

n (8} b]ll)sl.” cec wa (llSS()l\Cd 1”.
Of x S
m c

7d x Fn AA R T@d y Fn GG EEN T | | 145.
145. WJ.\TnKWT]W‘E}T".,W n mole of substance y.

A, FEd x T y % TS 3771 1 AT /{ The total of mole fractions of substance
1 g e | x and y remain 1.
. . . [
s X Foret i gEn B. Mole fraction o
B. X He 3 - = D No. of moles of x
faem = arai €1 Jen = = -
~S T No. of moles of solution
C. y#wHR = ¥ a,
Ox * Ny C. Mole fractionof y = —
Ny * Ay
N n :
D. x#aOgA3AN= X n,
ny +ny D. Mole fraction of X = +—
y y B
I A }v }v
1 QR [2) =9 D (1) A,BandC (2) “Only D
(3) FaaA (4) FATA, B (3) Only A (4) Only A, B

146. fr=fafaa 8 4 #13-m fazifim, emit 6 @ =4 146. Which of the following vitamins acts as

FTATR 7 hormone ?
(1) frfie e (2) Frfm B gp ViaminE (3] Vitamin'B
(3) fa=rfim (4) = D (3) Vitamin C (4) Vitamin D
147. 9 Sa it fafi & sam St e 147. According to five kingdom system of
A R Y clas.slﬁcation,'bacteﬁa and blue green algae
e = afeferm \ \ are included in
(1) 9=9d (2) wfe=r 4 (1) Plantae (2) Protista
(3) FaFT (4) "FTH (3) Fungi (4) Monera
148. f-‘ﬂ:{rl-H FH-H FAqF ¢ 7 148. Which of the following is a tissue ?
(1) LEF2T (2) HU=EE (1) Lung (2) Ovary
(3)  TH (4) 955 (3) Blood (4) Kidney

TS 1 Wir 8 S gHE sfsran g 2, 3991 | 140, Name of the hormone which is at the

S peak during ovulation is
(1) UFI(IH (2) UEETH (1) LH (2) Progesterone
(3) BT (4) UR.UHTE. (3) Estrogen (4) FSH
feodrrg 2 v 150. Hippocampus is g

(1) %?f:ra'rﬁ (2) HE=E (1) Mamma) (2) Coelenterate
3) - 4) W (3) Protochordate (4) Fish

-2/D 22
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